@ﬁ*fk&k%/\’l‘wﬁ‘#f”ﬁiﬂﬂﬁhii\%ﬂtfﬁﬂé\

Pl REHIWER Al RE: @m0 {1 HE @ E

\

:;\..m
?/E;n'

it

lanrnd

5

— EHEH: (SH5%)
L. f{x) =~ 2xt/ (9-x7)
2. f{x) = xes

= &R (5%)
I'xﬁf‘,“.a {x-casx)/ x

=+ &8} 3§ 4] (compounded continuously) T &£ & % lim P(1 + o)
£+ P= k£ (principal) = F## (nominal interest rate) n= —FHEFInL
& 4l F (effective interest rate) TEZ A SHFI LA Ffo L 60 % ¢
L #Z R E(L T 5B PR A HFEHT?
A w X LT - (5%)
2 FHAEAKARKXET? (5%)
3. &% 10,000 54 0 2L 9% SyaRAFMALH L M 16 WA K -
EFERTHMELET? (10%)

M- BALEBELERS x=D (p)=18-p/4 (p=iB > BE=%1) -
GAAZBRAAS 12087  AEAKARE2+2x (R)  HE
BAGFH MEAAAZHALS Y7 (10%) HAQRBES » 7
(5% )

}.i.":’.itaiJJtanhx dx° (10%)
ﬁ*ﬁijfxmdtdy- AP DEY =1, =3 xv=1, xy=2 HEER®K- (10%)

4 .-..u.-‘ﬁ. z= f[x ¥), x‘ucns& vsin @ y=using+ vcosf ¥
3 9
Sz 435 - TE 4 2L . (10%)
A fxy)=Hx3yp e, 2 6%5x810 05vE 4 Hire® ye (0,4),
BEAY) AEM6S%x210 LAR-TEEFH M8 7 £ FobiE )48 - (10%)

A WRAEAE (differential) £&3F J{B.ll})i + (4.02p - (10%}




